

Available online at http://scik.org J. Math. Comput. Sci. 11 (2021), No. 3, 3602-3612 https://doi.org/10.28919/jmcs/5742 ISSN: 1927-5307

## **ON** $(m; M; \varphi_n)$ SCHUR h-CONVEX STOCHASTIC PROCESS

### EL ACHKY JAMAL\*

### Department of Mathematics, Ibn Tofail University, Kenitra 14000, Morocco

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this work, we introduce and examine  $(m; M; \varphi)$  h-convex,  $(m; M; \varphi)$  Jensen h-convex and  $(m; M; \varphi_n)$ -Schur h-convex stochastic processes. Also some characterizations of  $(m; M; \varphi)$ -Wright h-convex stochastic process are given, where  $h : (0, 1) \rightarrow \mathbb{R}$  is a positive function with  $h(t) \leq t$  for any  $t \in (0, 1)$ .

**Keywords:** stochastic process;  $(m; M; \varphi_n)$ -schur convex; majorization; convex stochastic process; Wright-convex; Jensen-convex.

2010 AMS Subject Classification: 60C05, 60G05, 60G07, 52A41.

# **1.** INTRODUCTION

Recently much attention has been given to the theory of convexity due to its great importance in other fields of pure and applied sciences.

In this paper we present some results concerning  $(m; M; \varphi)$  h-convex, $(m; M; \varphi)$ Jensen h-convex,  $(m; M; \varphi_n)$ -Schur h-convex and  $(m; M; \varphi)$ -Wright h-convex stochastic processes.

## **2. PRELIMINARIES**

Let  $(\Omega, \mathscr{A}, \mathsf{P})$  be a probability space and  $I \subset \mathbb{R}$  is an interval.

A function  $X : \Omega \to \mathbb{R}$  is a random variable if is  $\mathscr{A}$ -measurable.

<sup>\*</sup>Corresponding author

E-mail address: achky1@hotmail.com

Received March 21, 2021

A stochastic processes is defined as function  $X : I \times \Omega \to \mathbb{R}$  if for every  $t \in I$ , the function X(t,.) is a random variable.

Recall that the stochastic process  $X : I \times \Omega \rightarrow \mathbb{R}$  is called:

(1) Continuous in probability in interval *I*, if for all  $t_0 \in I$ :

 $P - \lim_{t \to t_0} X(t;.) = X(t_0;.)$ . Where  $P - \lim$  denotes the limit in probability.

(2) Mean square continuous in the interval *I*, if for all  $t_0 \in I$ :

 $\lim_{t \to t_0} \mathbb{E}\left[ (X(t;.) - X(t_0;.))^2 \right] = 0.$ Where  $\mathbb{E}[X(t;.)]$  denote the expectation value of the random variable X(t,.).

Recall also that a stochastic process  $X : I \times \Omega \rightarrow \mathbb{R}$  is called:

- convex if for all  $a, b \in I$  and  $t \in [0, 1]$ , the following inequality holds:

 $X(ta+(1-t)b,\cdot) \le tX(a,\cdot)+(1-t)X(b,\cdot)$ 

If the above inequality is assumed only for  $t = \frac{1}{2}$ , then the process X is Jensen-convex.

- *h*-convex if for all  $\lambda \in [0, 1]$  and  $a, b \in I$  the inequality:

 $X(\lambda a + (1 - \lambda)b, .) \le h(\lambda)X(a, .) + h(1 - \lambda)X(b, .)$  is satisfied. Where  $h: (0, 1) \to \mathbb{R}$  be a positive function  $h \ne 0$ .

- Wright-convex if for all  $a, b \in I$  and  $t \in [0, 1]$ , the following condition holds:

 $X(ta+(1-t)b,\cdot)+X((1-t)a+tb,\cdot) \leq X(a,\cdot)+X(b,\cdot)$ 

-Additive if for all  $a, b \in I$ , the following condition holds:  $X(a+b, \cdot) = X(a, \cdot) + X(b, \cdot)$ 

Let  $x = (x_1, ..., x_n), y = (y_1, ..., y_n) \in I^n$ , (the integer  $n \ge 2$ ). We say that x is majorized by y and write  $x \le y$ , if there exists a doubly stochastic  $n \times n$  matrix P such that  $x = y \cdot P$ .

Note that the stochastic process  $X : I^n \times \Omega \to \mathbb{R}$  is called Schur-convex if for all  $x, y \in I^n$ :  $x \leq y \implies X(x, \cdot) \leq X(y, \cdot).$ 

The notion of  $(m; \Psi)$ -lower convex,  $(M; \Psi)$ -upper convex and  $(m, M, \Psi)$ -convex function was introduced by Dragomir [1].

For more informations we refer to [2, 3, 5, 6, 10, 12, 13, 14].

### **3.** MAIN RESULTS

For the next results we consider  $m, M \in \mathbb{R}$  and  $I \subset \mathbb{R}$ .

**Definition 3.1.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $h \neq 0$ .

Let  $\varphi$  :  $I \times \Omega \rightarrow \mathbb{R}$  is *h*-convex stochastic process.

We say that a stochastic process  $X : I \times \Omega \to \mathbb{R}$  is  $(m; M; \varphi)$  *h*-convex if:

 $\begin{array}{l} X - m\varphi \quad is \ convex \qquad (1) \\ and \\ M\varphi - X \quad is \ convex \qquad (2) \end{array}$ 

If only condition (1) is satisfied, we say that X is  $(m; \varphi)$  -lower h - convex, but if only condition (2) is satisfied, we say that X is  $(M; \varphi)$  -upper h-convex.

**Proposition 3.2.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $, h \neq 0$  with  $h(t) \leq t$  for any  $t \in (0,1)$ Let  $\varphi: I \times \Omega \to \mathbb{R}$  is non negative, h-convex stochastic process. Then the stochastic process  $\varphi_n: I^n \times \Omega \to \mathbb{R}$  defined by:  $\varphi_n(x_1, \dots, x_n, \omega) = \varphi(x_1, \omega) + \dots + \varphi(x_n, \omega), (x_1, \dots, x_n, \omega) \in I^n \times \Omega$  is schur convex for all integr  $n \geq 2$ .

Proof. Let 
$$x = (x_1, \dots, x_n)$$
;  $y = (y_1, \dots, y_n) \in I^n$  such that  $x \preccurlyeq y$ , then:  

$$\sum_{j=1}^n \varphi(x_j; .) = \sum_{j=1}^n \varphi(\sum_{i=1}^n t_{ij} y_i; .) \leq \sum_{j=1}^n \sum_{i=1}^n h(t_{ij}) \varphi(y_i; .)$$

$$\leq \sum_{i=1}^n \sum_{j=1}^n t_{ij} \varphi(y_i; .)$$

$$= \sum_{i=1}^n \varphi(y_i; .) \sum_{j=1}^n t_{ij}$$

**Definition 3.3.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $h \neq 0$ .

Let  $\varphi : I \times \Omega \to \mathbb{R}$  is *h*-convex stochastic process.

Let  $\varphi_n: I^n \times \Omega \to \mathbb{R}$  the stochastic process given by:

 $\varphi_n(x_1,\ldots,x_n,\omega) = \varphi(x_1,\omega) + \cdots + \varphi(x_n,\omega)$ 

We say that a stochastic process  $X : I^n \times \Omega \to \mathbb{R}$  is  $(m; M; \varphi_n)$ -Schur h - convex if for all  $x, y \in I^n$ :

$$x \leq y \Longrightarrow X(x;.) \leq X(y;.) - m(\varphi_n(y;.) - \varphi_n(x;.))$$
and
$$(3)$$

$$x \leq y \implies X(x;.) \geq X(y;.) - M(\varphi_n(y;.) - \varphi_n(x;.))$$
(4)

*Remark* 3.4. If only condition (3) is satisfied, we say that X is  $(m; \varphi_n)$  -lower Schur*h*-convex.

- If only condition (4) is satisfied, we say that X is  $(M; \varphi_n)$  -upper Schur h-convex.

### Theorem 3.5.

*Let*  $h: (0,1) \to \mathbb{R}$  *be a positive function*  $h \neq 0$  *with*  $h(t) \leq t$  *for any*  $t \in (0,1)$ 

Let  $\varphi: I \times \Omega \to \mathbb{R}$  is non negative, h-convex stochastic process.

Let  $\varphi_n : I^n \times \Omega \to \mathbb{R}$  the stochastic process given by:

 $\varphi_n(x_1,\ldots,x_n,\omega) = \varphi(x_1,\omega) + \cdots + \varphi(x_n,\omega), (x_1,\ldots,x_n,\omega) \in I^n \times \Omega.$ 

Let  $X : I \times \Omega \to \mathbb{R}$  be a stochastic process, and  $S_n : I^n \times \Omega \to \mathbb{R}$  be a stochastic process such that:  $S_n(x_1, \dots, x_n, \omega) = X(x_1; \omega) + \dots + X(x_n; \omega)$ 

(i) If X is  $(m, \varphi)$  -lower h-convex, then the stochastic process  $S_n$  is  $(m, \varphi_n)$  -lower Schur h-convex

(ii) If X is  $(M, \varphi)$  upper h-convex, then the stochastic process  $S_n$  is  $(M, \varphi_n)$  -upper Schur h-convex

(iii) If X is  $(m, M, \varphi)$ -h-convex, then the stochastic process  $S_n$  is  $(m, M, \varphi_n)$  Schur h-convex. Proof.

(i) Let  $x; y \in I^n$  with  $x \leq y$  There exists a doubly stochastic matrix  $P = [t_{ij}]$  such that  $x = y \cdot P$ then:  $Xis(m, \varphi)$  -lower homovex, so the stochastic process  $Y = X - m\varphi$  is homovex, by using the previous propostion, we have  $Y(x_1; .) + \dots + Y(x_n; .)$  is schur convex. Then,  $S_n(x; .) \leq Y(y_1; .) + \dots + Y(y_n; .) + m(\varphi(x_1; .) + \dots + \varphi(x_n; .))$ 

$$=X(y_{1};.)+\cdots+X(y_{n};.)-m(\varphi(y_{1};.)+\cdots+\varphi(y_{n};.))$$

 $+m(\varphi(x_1;.)+\cdots+\varphi(x_n;.))$ 

(ii). The proof is analogous.

(*iii*).*From*(*i*) and(*ii*) we obtain the desired result.  $\Box$ 

In the following result we use the above theorem, to give a counterpart of the classical

Hardy–Littlewood–Pólya majorization theorem (See[4,7,8]).

**Corollary 3.6.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $, h \neq 0$  with  $h(t) \leq t$  for any  $t \in (0,1)$ Let  $\varphi: I \times \Omega \to \mathbb{R}$  is non negative, *h*-convex stochastic process.

$$\begin{split} \varphi_{n}: I^{n} \times \Omega \to \mathbb{R} \text{the stochastic process given by:} \\ \varphi_{n}(x_{1}, \dots, x_{n}, \omega) &= \varphi(x_{1}, \omega) + \dots + \varphi(x_{n}, \omega), (x_{1}, \dots, x_{n}, \omega) \in I^{n} \times \Omega. \\ \text{Let } X: I \times \Omega \to \mathbb{R} \text{ be a stochastic process.} \\ \text{Assume that } x &= (x_{1}, \dots, x_{n}); \ y &= (y_{1}, \dots, y_{n}) \in I^{n} \ (n \geq 2) \text{ satisfy:} \\ (a) x_{1} \leq \dots \leq x_{n}, y_{1} \leq \dots \leq y_{n} \\ (b) y_{1} + \dots + y_{k} \leq x_{1} + \dots + x_{k}, \quad k = 1, \dots, n-1 \\ (c) y_{1} + \dots + y_{n} = x_{1} + \dots + x_{n} \\ (i) \text{ If } X \text{ is } (m, \varphi) \text{ -lower } h \text{-convex, then:} \\ X(x_{1}; .) + \dots + X(x_{n}; .) \leq X(y_{1}; .) + \dots + X(y_{n}; .) - m(\varphi_{n}(y; .) - \varphi_{n}(x; .)) \\ (ii) \text{ If } X \text{ is } (m, \varphi) \text{ -lopper } h \text{-convex then:} \\ X(x_{1}; .) + \dots + X(x_{n}; .) \geq X(y_{1}; .) + \dots + X(y_{n}; .) - M(\varphi_{n}(y; .) - \varphi_{n}(x; .)) \\ (iii) \text{ If } X \text{ is } (m, M, \varphi) \text{ h-convex then:} \\ X(y_{1}; .) + \dots + X(y_{n}; .) - M(\varphi_{n}(y; .) - \varphi_{n}(x; .)) \\ \leq X(x_{1}; .) + \dots + X(y_{n}; .) - M(\varphi_{n}(y; .) - \varphi_{n}(x; .)) \\ \leq X(y_{1}; .) + \dots + X(y_{n}; .) - m(\varphi_{n}(y; .) - \varphi_{n}(x; .)) \end{split}$$

*Proof.* Recall that assumptions (a)-(c) imply  $x \leq y$  (see [7]) and apply theorem 3.5.

 $\square$ 

## Corollary 3.7.

Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $, h \neq 0$  with  $h(t) \leq t$  for any  $t \in (0,1)$ Let  $\varphi: I \times \Omega \to \mathbb{R}$  is non negative, h-convex stochastic process. Let  $X: I \times \Omega \to \mathbb{R}$  be a stochastic process.

(i) If X is  $(m, \varphi)$  -lower h-convex, then:

$$(X-m\varphi)\left(\frac{x_1+x_2+\cdots+x_n}{n},.\right) \leq \frac{\sum_{i=1}^n (X-m\varphi)(x_i,.)}{n}$$

(ii) If X is  $(M, \varphi)$ -upper h-convex, then:

$$(X - M\varphi)\left(\frac{x_1 + x_2 + \cdots + x_n}{n}, \cdot\right) \ge \frac{\sum_{i=1}^n (X - M\varphi)(x_i, \cdot)}{n}$$

*Proof.* Let  $\bar{x} = \frac{1}{n} (x_1 + \dots + x_n)$ . Then  $(\bar{x}, \dots, \bar{x}) \preceq (x_1, \dots, x_n)$ 

By using theorem 3.5, we obtain the desired result.

**Definition 3.8.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $h \neq 0$ .

Let  $\varphi : I \times \Omega \to \mathbb{R}$  is *h*-convex stochastic process.

We say that a stochastic process  $X : I \times \Omega \to \mathbb{R}$  is  $(m, \varphi)$  -lower Jensen *h*-convex if the stochastic process  $X - m\varphi$  is Jensen – convex.

Also the stochastic process X:  $I \times \Omega \to \mathbb{R}$  is called  $(M, \varphi)$  – upper Jensen *h*-convex if the stochastic process  $M\varphi - X$  is Jensen-convex.

We say that  $X: I \times \Omega \to \mathbb{R}$  is  $(m, M, \varphi)$  – Jensen *h*-convex if it is  $(m, \varphi)$  -lower Jensen *h*-convex and  $(M, \varphi)$  -upper Jensen *h*-convex.

Now, We will proves that stochastic processes generating  $(m, M, \varphi_n)$  -Schur *h*-convex sums must be  $(m, M, \varphi)$  -Jensen *h*-convex.

**Theorem 3.9.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $, h \neq 0$  with  $h(t) \leq t$  for any  $t \in (0,1)$ Let  $\varphi: I \times \Omega \to \mathbb{R}$  is non negative, h-convex stochastic process.  $\varphi_n: I^n \times \Omega \to \mathbb{R}$ the stochastic process given by:  $\varphi_n(x_1, \dots, x_n, \omega) = \varphi(x_1, \omega) + \dots + \varphi(x_n, \omega), (x_1, \dots, x_n, \omega) \in I^n \times \Omega.$ Let  $X: I \times \Omega \to \mathbb{R}$  be a stochastic process, and  $S_n: I^n \times \Omega \to \mathbb{R}$  be a stochastic process such that:  $S_n(x_1, \dots, x_n, \omega) = X(x_1; \omega) + \dots + X(x_n; \omega)$ 

*For some*  $n \ge 2$  *we have:* 

(i) If the stochastic process  $S_n$  is  $(m, \varphi_n)$  -lower Schur h-convex, then X is  $(m, \varphi)$  -lower Jensen h-convex.

(ii) If the stochastic process  $S_n$  is  $(M, \varphi_n)$  -upper Schur h-convex, then X is  $(M, \varphi)$  -upper Jensen h-convex.

(iii) If the stochastic process  $S_n$  is  $(m, M, \varphi_n)$  -Schur h-convex, then X is  $(m, M, \varphi)$  - Jensen h-convex.

*Proof.* (i) Take  $y_1, y_2 \in I$  and put  $x_1 = x_2 = \frac{1}{2}(y_1 + y_2)$ . Let  $y = (y_1, y_2, y_2, \dots, y_2), x = (x_1, x_2, y_2, \dots, y_2)$  (if n = 2, we take  $y = (y_1, y_2), x = (x_1, x_2)$ ). then  $x \leq y$ , we get:  $S_n(x; .) \leq S_n(y; .) - m(\varphi_n(y; .) - \varphi_n(x; .))$ . Then

$$2X\left(\frac{y_1+y_2}{2};.\right) \le X(y_1;.) + X(y_2;.) - m\left(\varphi(y_1;.) + \varphi(y_2;.) - 2\varphi\left(\frac{y_1+y_2}{2};.\right)\right)$$

So, for 
$$Y = X - m\varphi$$
 we have  
 $2Y\left(\frac{y_1 + y_2}{2};.\right) = 2X\left(\frac{y_1 + y_2}{2};.\right) - 2m\varphi\left(\frac{y_1 + y_2}{2};.\right)$   
 $\leq X(y_1;.) + X(y_2;.) - m((\varphi(y_1;.) + \varphi(y_2;.)))$   
 $= Y(y_1;.) + Y(y_2;.)$ 

Then X is  $(m, \varphi)$  -lower Jensen h-convex.

(ii) The proof is analogous.

(iii) From (i) and (ii) we obtain the desired result.

**Definition 3.10.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $, h \neq 0$ .

Let  $\varphi$  :  $I \times \Omega \rightarrow \mathbb{R}$  is *h*-convex stochastic process.

We say that a stochastic process  $X : I \times \mathbb{R} \to \mathbb{R}$  is  $(m, \varphi)$  -lower Wright *h*-convex  $((M, \varphi)$  upper Wright-*h*-convex ) if the stochastic process  $X - m\varphi$  (the stochastic process  $M\varphi - X$ ) is Wright convex.

We say that X:  $I \times \mathbb{R} \to \mathbb{R}$  is  $(m, M, \varphi)$  – Wright-*h*-convex if it is  $(m, \varphi)$  -lower Wright-*h*-convex and  $(M, \varphi)$  -upper Wright *h*-convex.

The next theorem is a counterpart of the result of Ng [9] on functions generating Schurconvex sums.

**Theorem 3.11.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $, h \neq 0$  with  $h(t) \leq t$  for any  $t \in (0,1)$ Let  $\varphi: I \times \Omega \to \mathbb{R}$  is non negative, h-convex stochastic process.

 $\varphi_n: I^n \times \Omega \to \mathbb{R}$  the stochastic process given by:

 $\varphi_n(x_1,\ldots,x_n,\omega) = \varphi(x_1,\omega) + \cdots + \varphi(x_n,\omega), (x_1,\ldots,x_n,\omega) \in I^n \times \Omega.$ 

Let  $X : I \times \Omega \to \mathbb{R}$  be a stochastic process, and  $S_n : I^n \times \Omega \to \mathbb{R}$  be a stochastic process such that:  $S_n(x_1, \ldots, x_n, \omega) = X(x_1; \omega) + \cdots + X(x_n; \omega)$ :

(i) If X is  $(m, \varphi)$  -lower Wright h-convex, then for every  $n \ge 2$ ,  $S_n$  is  $(m, \varphi_n)$  -lower Schur-hconvex.

Conversely if for some  $n \ge 2$ ,  $S_n$  is  $(m, \varphi_n)$  -lower Schurh-convex then X is  $(m, \varphi)$  -lower Wright h-convex.

(ii) If X is  $(M, \varphi)$  -upper Wright h-convex, then for every  $n \ge 2$ ,  $S_n$  is  $(M, \varphi_n)$  -upper Schur h-convex.

Conversely if for some  $n \ge 2$ ,  $S_n$  is  $(M, \varphi_n)$  -upper Schurh-convex then X is  $(M, \varphi)$  -upper Wright h-convex.

(iii) If X is  $(m, M, \varphi)$  - Wright h-convex, then for every  $n \ge 2$ ,  $S_n$  is  $(m, M, \varphi_n)$  - Schur h-convex. Conversely if for some  $n \ge 2$ ,  $S_n$  is  $(m, M, \varphi_n)$  - Schur h-convex then X is  $(m, M, \varphi)$  - Wright h-convex.

Proof.

 $(i) \Rightarrow$ 

Suppose X is  $(m, \varphi)$  -lower Wright h-convex.

Then the stochastic process  $Y = X - m\varphi$  is Wright convex, it is of the form  $Y = Y_1 + A$ , where  $Y_1$  is convex and A is additive (*See*[11]).

For  $x = (x_1, ..., x_n) \preceq y = (y_1, ..., y_n)$ , we have

$$Y(x_1;.) + \dots + Y(x_n;.) \le Y(y_1;.) + \dots + Y(y_n;.)$$

So,

$$X(x_{1};.) + \dots + X(x_{n};.) - m(\varphi(x_{1};.) + \dots + \varphi(x_{n};.))$$
  
$$\leq X(y_{1};.) + \dots + X(y_{n};.) - m(\varphi(y_{1};.) + \dots + \varphi(y_{n};.))$$

Then:

$$S_n(x;.) \leq S_n(y;.) - m\left(\varphi_n(y;.) - \varphi_n(x;.)\right)$$

Then:  $S_n$  is  $(m, \varphi_n)$  -lower Schur *h*-convex.

Suppose  $S_n$  is  $(m, \varphi_n)$  -lower Schur *h*-convex. Take  $y_1, y_2 \in I$  and  $t \in (0, 1)$ Put  $x_1 = ty_1 + (1-t)y_2$ ,  $x_2 = (1-t)y_1 + ty_2$  and  $x_i = y_i = z \in I$  for i = 3, ..., n. (for n > 2) Then:  $x = (x_1, ..., x_n) \preceq y = (y_1, ..., y_n)$ . Using (3), we get  $S_n(x; ..) \leq S_n(y; ..) - m(\varphi_n(y; ..) - \varphi_n(x; ..))$ 

### EL ACHKY JAMAL

Then:

$$X(ty_{1} + (1 - t)y_{2};.) + X((1 - t)y_{1} + ty_{2};.)$$
  

$$\leq X(y_{1};.) + X(y_{2};.) - m(\varphi(y_{1};.) + \varphi(y_{2};.) - \varphi(x_{1};.) - \varphi(x_{2};.))$$

Then, for  $Y = X - m\varphi$  we obtain:

$$Y(ty_{1} + (1 - t)y_{2};.) + Y((1 - t)y_{1} + ty_{2};.)$$
  
=  $X(ty_{1} + (1 - t)y_{2};.) + X((1 - t)y_{1} + ty_{2};.) - m\varphi(ty_{1} + (1 - t)y_{2};.)$   
 $- m\varphi((1 - t)y_{1} + ty_{2};.)$   
 $\leq X(y_{1};.) + X(y_{2};.) - m\varphi(y_{1};.) - m\varphi(y_{2};.) = Y(y_{1};.) + Y(y_{2};.)$ 

This shows that *X* is  $(m, \varphi)$  -lower Wright *h*-convex.

(ii). The proof is analogous of (i).

(iii) from (i) and (ii) we obtain the desired result.

Now, we establish a representation for  $(m, M, \varphi)$  -Wright *h*-convex sthocastic process.

**Theorem 3.12.** Let  $h: (0,1) \to \mathbb{R}$  be a positive function  $, h \neq 0$  with  $h(t) \leq t$  for any  $t \in (0,1)$ Let  $\varphi: I \times \Omega \to \mathbb{R}$  is non negative, h-convex stochastic process.

- Let  $X : I \times \Omega \to \mathbb{R}$  be a stochastic process :
- (*i*) X is  $(m, \varphi)$ -lower Wright h-convex if and only if  $X = Y_1 + H_1$ . Where  $Y_1$  is  $(m, \varphi)$ -lower h-convex and  $H_1 : I \times \Omega \to \mathbb{R}$  is additive
- (*ii*) X is  $(M, \varphi)$  -upper Wright h-convex if and only if  $X = Y_2 + H_2$ . Where  $Y_2$  is  $(M, \varphi)$ -upper h-convex and  $H_2 : I \times \Omega \to \mathbb{R}$  is additive.
- (iii) X is  $(m, M, \varphi)$  Wright h-convex if and only if  $X = Y_3 + H_3$ . Where  $Y_3$  is  $(m, M, \varphi)$ -h-convex and  $H_3 : I \times \Omega \to \mathbb{R}$  is additive.

*Proof.* i) $\Rightarrow$ )

Suppose *X* is  $(m, \varphi)$  -lower Wright *h*-convex, then  $Z = X - m\varphi$  is Wright convex. Then, there exist a convex stochastic process  $Z_1 : I \times \Omega \to \mathbb{R}$  and an additive stochastic process  $H_1 : I \times \Omega \to \mathbb{R}$  such that  $Z = Z_1 + H_1$ .

Then  $Y_1 = Z_1 + m\varphi$  is  $(m, \varphi)$ -lower *h*-convex and  $X = Z + m\varphi = Z_1 + H_1 + m\varphi = Y_1 + H_1$ Then we obtain the desired result.

3610

If  $X = Y_1 + H_1$  where  $Y_1$  is  $(m, \varphi)$ -lower *h*-convex and  $H_1$  additive, then  $X - m\varphi = Y_1 - m\varphi + H_1$  is Wright-convex as a sum of a convex stochastic process and an additive stochastic process. Then *X* is  $(m, \varphi)$ -lower Wright *h*-convex.

ii) The proof is similar.

iii):⇒)

If X is  $(m, M, \varphi)$  Wright-*h*-convex, then  $X - m\varphi$  and  $M\varphi - X$  are Wright-convex. Then  $X - m\varphi = Z_1 + G_1$  and  $M\varphi - X = Z_2 + G_2$  with some convex stochastic processes  $Z_1, Z_2$  and

additive stochastic process  $G_1, G_2$ . Hence  $G_1 + G_2 = (M - m)\varphi - (Z_1 + Z_2)$ .

We have:  $G = G_1 + G_2$  is additive. Let  $H_3 = G_1$  and  $Y_3 = X - H_3$ . Then:

 $Y_3 - m\varphi = X - H_3 - m\varphi = Z_1$ 

Since  $Z_1$  is convex, then  $Y_3$  is  $(m, \varphi)$ -lower convex.

Also:  $M\phi - Y_3 = M\phi - X + H_3 = Z_2 + G_2 + H_3 = Z_2 + G_4$  is convex, then  $Y_3$  is  $(M, \phi)$ -upper *h*-convex.

Consequently,  $Y_3$  is  $(m, M, \varphi)$ -h-convex and  $X = Y_3 + H_3$ .

⇐)

If  $X = Y_3 + H_3$ , where  $Y_3$  is  $(m, M, \varphi)$ -*h*-convex and  $H_3 : I \times \Omega \to \mathbb{R}$  is additive, then, by (i) and(ii) X is  $(m, \varphi)$  -lower Wright *h*-convex and  $(M, \psi)$  -upper Wright *h*-convex. Then X is  $(m, M, \varphi)$  -Wright *h*-convex.

### **CONFLICT OF INTERESTS**

The author(s) declare that there is no conflict of interests.

#### REFERENCES

- S.S. Dragomir, On a reverse of jessen's inequality for isotonic linear functionals, J. Inequal. Pure Appl. Math. 2 (2001), 36.
- [2] S.S. Dragomir, K. Nikodem, Functions generating (m,M, Ψ)-Schur-convex sums, Aequat. Math. 93 (2019), 79–90.
- [3] S.S. Dragomir, Some inequalities for (m, M) -convex mappings and applications for Csiszár  $\Phi$ -divergence in information theory. Math. J. Ibaraki Univ. 33 (2001), 35-50.

#### EL ACHKY JAMAL

- [4] G.H. Hardy, J.E. Littlewood, G. Polya, Inequalities, Cambridge University Press, London, 1951.
- [5] D. Kotrys, Hermite-Hadamard inequality for convex stochastic processes, Aequat. Math. 83 (2012), 143-151.
- [6] D. Kotrys, K. Nikodem, Stochastic processes generating Schur-convex sums, Aequat. Math. 94 (2020), 447–453.
- [7] A.W. Marshall, I. Olkin, Inequalities: Theory of majorization and its applications, Academic Press, New York, (1979).
- [8] C.P. Niculescu, I. Roventa, Hardy-Littlewood-Polya theorem of majorization in the framework of generalized convexity. Carpath. J. Math. 3 (2017), 87-95.
- [9] C.T. Ng, Functions Generating Schur-Convex Sums, in: W. Walter (Ed.), General Inequalities 5, Birkhäuser Basel, Basel, 1987: pp. 433–438.
- [10] K. Nikodem, On convex stochastic processes, Aequat. Math. 20 (1980), 184–197.
- [11] A. Skowroński, On Wright-convex stochastic processes. Ann. Math. Sil. 9 (1995), 29-32.
- [12] A. Skowroński, On some properties of J-convex stochastic processes, Aequat. Math. 44 (1992), 249-258.
- [13] M. Shaked, J.G. Shanthikumar, Stochastic convexity and its applications, Adv. Appl. Probab. 20 (1988), 427–446.
- [14] I. Schur, Über eine Klasse von Mittelbildungen mit Anwendungen auf die Determinantentheorie, Sitzungsber.
   Berlin. Math. Ges. 22 (1923), 9–20.